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L ' ) QUIT(@G:TIF‘{:SIU{ BOw Lndlur smims erDbsienrsser ; |
(<=1) srpGoudsa (<) 2@ olGTL WriTageD
(@) <prid euifg () @eowaned gm9enen
The concept of Net Economic Welfare has been given by :
(2)  Samuelson (b)  Alfred Marshall
()  Adam Smith (d) Lionel Robbins

2. swgioy QUW@@TIFQBWIIQJQG'D 2 Husdl, udlia) wHmb Siejsmen (pig.af
Q&ieug) :
() s s58sar () wsHw AL @
(&) upss CUDESPLD LS (ETHLD () seflur geom

In a socialist economy, all decisions regarding production and distribution are |
]

taken by :
(@) Market forces (b) Central planning authority {
() Customs and traditions (d) Private sector |

3. & Crrée UeeTGETL 1.6 Siam)(ELpan HaniL SIHpstu@sSwer
(21) D8yl wriagd
(=) @awared Fmleen
() JR. abléev wpmid R.G.D. S} QVen
(FF) pLib el
The Indifference curve approach was introduced by :
(a)  Alfred Marshall
(b)  Lionel Robbins

() J.R. Hicks and R.G.D. Allen
(d) Adam Smith

4.  aflueu Srorallseh srrafser -

(21) e pugd Qsmlam L () 2DpusHs srraflseler eQenaaar %
(8) euflaEnw FRY|NEE(GHLD () Gumnamdlu D|MEEHFILD , i
Factors determining supply are :

(a) © Production technology (b)  Prices of factors of production

(c) Taxes and subsidies (d)  All the above
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&l Lie anmileiig., Gapaire whmb Gorend UL ksenies,
s T(HSH&GET_(HEeTTELD. '
(<=1) pLbuy (<) SpHlena
(&) eusd) () ergla)b Gdama
According to Giffen, ragi and cholam are good examples for goods.
(@) luxury (b) inferior
() comfort (d) none

gLobleney llenas@ G :

(1) S<D (24)S>D
(@) S=D (FF) ggdlevene
Above the equilibrium price :

(@ S<D RRD) SR

(c) S=D (d) None

Hlegder <ridu sefliy eSlena :
(<) pDIEGL Sis0rans,

(1) YGud
(8) @Em&EGD GmPaITag) () @em&EE swOTES
Initial supply price of landis:
(a) Zero . (b) Greater than one
(d) Equal to one

(c) Less than one

Fepss QFea| eramimel :

(<=1) (rﬁlgwm@m’rr ghmis Qamereuglerend

(<) FUPSTUILD gnG CFae

(@) o L OBOSING SBIE efemerallliLIg)

(7F) ConHsramiLd |G FILD

Social costs are those cost :

(a) not borne by the firms

(b) incurred by the society

(c) health hazards

(d) ~ all of these | |
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10 amd) \SY:‘N?\ ‘.n"!\‘,\‘\ RN IR AT
(v a1 (e, ) v ramoratanenihy
() aflevanr Hlanaiing, A dnedy () Gaviameon‘ledtanin
Bank vate {8 raised during
(@) detlation (h)  inflation
) stable prices () unemployment
T s 3 @ @aaands Gaien. gy
Cem) e tighled g e drann $ copanint’ i e
(20 @I wdHpI LBl copanl
() wniled whmid & drarm’ N comotin o
() Gropeailul cojamanghamih
The federal form of government consists ol
(@) central, state and local government
(b)) contral and state governmment
(©)  state and local government
(@) all the above
1L \(&tautq.llxu Q- mimenar hlpis, 12x1=12

Fill in the hlanks with suitable answors,

1.15.

16.

18.

meTLI) Gratuagl 2 <D,

The term “micro” means

) - ‘. - B o oo ide 1w }
swasiot QuirgerrsnygHan apidiun Gprdsn .

The prime motive of socialist economy 18 .

. 3 - \J 1 ) ) ) ').
WrFagedlen LLELITL B <I@IEHIp®D & T T p——C DL Ll

Marshallian utility approach is .. analysis,
' . . : . N sresn (L.
Qe IHDEHTD GrHLIID, ey wrpm eSHd

; S o a el in price I8 o
The rate of change of supply to a change in price : _

| @Qf)lm—l-’% / Turn over
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19, Geuennaanin, Ggmblay, auerniif) wmmib whliey Curdnmenas Sy
NS
Agriculture, Industry, Growth and Distribution are the e __ofthe
(,‘C()ﬂ()my,
20.

e GTenILg G BimeuengAlan o dret(), GeueluiBaensE e -Gus
pgrer Gluichiimes Qgm i,

I'he functional relationship between input and output is known as _____ .

21, vamsameilenes __ aranmib Sienipdsamb.

Money cost is also called

22, . 2ltsmguiey 2_dren Blmieueniige, sihgens@aCGer (padluinmer
Gomienouar sal_Hneurs Qeuwdul. Cousmmguensg eeihdmeEn.
Firms realize the importance of mutual co-operation under

23. Gmdbaw o huidsspen Camiur® eramig udliey Camlun(.
Marginal productivity theory is the theory of distribution.

24. eranugy augporen wrppsfand GaAiGd ghuln wrHD

N fgpansd GHEGD.
is the ratio of change in saving to a change in income.

25. grajlb LemeisEE®S  GTED BENLPEHHELD.

Galloping inflation is also known as

26.  aflelHGen SigliLemsb Gamlurien. cremmd 24enip&ElGpmD.

are considered as fundamental principles of taxation.
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28.
29.
30.
31.
32.
33.
34.
35.
36.

37.

38.

Quiaghlas JgIGPD
gawrt Qerggflento

<L DU LIGRTL MBI &ET
Gaetit HmD &Tia
Godwsre alene
@Liurpsefier Ggm@uL
@emruw

wpomfleswwimeri Guiriig
erés o Mend smedls GCarium(
gfleys Gam(h

Faadlid efleneulLd @G'msmp)v
Qe SATEBHDZ

Bldl& Qarerans

Match the following :

27.
28.
29.
30.
31.

32.
33.
34.
35.
36.
37.
38.

Dynamic approach

. Private property

Luxuries

Tea and Coffee

Short period price
Bundle of risks

Profit A
Monopolistic competition
Residual Claimant theory
Slope

Wages and prices push
Fi;cal policy
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12x1=12
D) AT <IhLITERTIRIGET
@) USSP LiahTL BT

@) annGe

) gaeullré Qarerens QUITIHATTSTTD

2 ) GUT&HSET

(

(

(

(

(

(o) Qerigss wrHHD / S LOTHMLD
(er) HMTO&LLLD

(or) Goepeuyd Aafliitd

(83) BeTERUIGUID, 2-&6S Qs Tensu|LD
(

@) 2eiba) Qe aILd LeTed&H&LD

(@) E.H. Gabuiredlen
(pem) TR—TC

(a) Diamond Jewels

(b) Substitutes

(c) Hawley

(d) Laissez Faire economy

(e) Walker

(f)  Vertical change/horizontal change
(g) Time Element

(h) Demand and Supply

( Rebate and Subsidies

[y

Creeping Inflation

ey

(k) E.H. Chamberlin
() - TR-TC. |
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IV. demeubd eflenmés@nss efm Qsmpeeid el (5. 12x1=12 .
Answer each of the following questions in a word or two :
39.  uewr eumrearsHnes Geum Quwiir erémmes ?
What is the other name for money income ?
40.  seouyw QurmertgrrsHe L NRsH o arim ?
Is there planning under mixed economy ?
41. fldfleoas Carlynhe wh@prm Quuir ererer ?
What is the other name for budget line ?
42. Qsgpewoulen Gugid, wEssHer Gurgb Cema ereueurm LrNLGADS! ?
How does demand change during boom and depression ?
43. Qumg FwHene GrenmTEd 6o ?
What is equilibrium in general ?
44. SPSTW DIHDLID STEULD (PHEIT WITT ?
Who is the changing agent of a society ?
45. gyl Qgenel eTeUalTM) saméS(Heuml ?
How will you calculate Average Cost ?
46. Qgmpsrare GTETMITE) GTesanr ?
What is an industry ?
17 spleLfér @eorus Gariuriigen Quuwit eremest ?
What is the name of Schumpeter’s theory of Profits ?
_ . . . . Wéorer eurarfls QumGeTT-
48. @Qmuélerpg LOHILD = Qufssreiear L

www.Padasalai.Net www.TrbTnpsc.com

What crippled the free enterprise economies of US.and UK. ?
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49.

50.

GHIoY = ()
Note : (i) Answer any ten of the following questions.

51.

52.

53.

54.

55.

56.

57.

www.Padasalai.Net WWw.TrbT
TrbTnpsc.com
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DIHELDLI LIGRTEQETETEn S Tl QUL s 1Ny sE0ubHEng ?

When is dear money policy followed ?

Bl flene <|iNGemaullen QUEHEEHET WTene 7

What are the kinds of budget ?

LGS - o/ PART -B
srenauCuenid LSS NTEEHEHES aflen_wefl&sa.

() gaQars eloLubd BIEG Sid0g BB
SiemWbEIL Couat(HLD.

(i) Answer for each question should be about four or five lines.

QurgerTgmyd LHD <pldire rieagyeden Gassad Wl ?

State Alfred Marshall’s definition of economics.
THS @M FUPSTLSSQID graprliL(D Sig UL QyL_senasaT Wirenel ?

What are the basic issues of any society ?

aumiliLg QFwa) GTGTMTE) Greomesr ?

What is opportunity cost ?

lg 61 LIGTL|GeT WITenal ?

FCHIEES auanaTGaTL
f Indifference Curve ?

What are the properties 0

£ LSleru upd Ap GHIUY TS

Write a note on Giffen Paradox.

oISl ST ~ Am GHLIL| DTS-
Write a short note on Market Period.

u sreb Caunubsss.

BetrLsTaLd, Gns
long period.

Differentiate the short period from the
, [ Hmuys / Turn over
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58.  wweuIm g 6 UnssMmaTS Fams.
Name the types of utility.

2% e@piy - ey,
Define Labour.

60. 2 d@mens Qsaay CTEIMNE) eTeman ?
What is Real Cost ?

61. MC wpmid AC -&g@b Qe Cuuyeter 2 meysemars EaMmis.
Mention the relationship between MC and AC.

62. Bienw eSmiLg Cam_um e epeny Crrésiisar wrenas ?
What are the three motives of liquidity preference ?

63. @LHOwrgs GCaamau eths Qm sryaismans EMTHESE ?
Give two factors on which the aggregate demand depends.

64. &L Sjareys SLHUILT g6 SMmelseT wrenal ?
What are the Instruments of quantitative credit control ?

65. ‘Leuw’ (Zero Budget) Hlflfleney oifldens erenmmed eresa ?
What is Zero Based Budget ?

u@S) - 8 /PART-C
sieneuCuienid ym eleaméaEnéE elle wellésayb. 6x10=60

GOy : ()
i) eeaQeaumm elen Wb @EUEs aTalled @il Caua@Bib.
Note : (i) Answer any six of the following questions.

(i) Answer for each question should be about a page.

66. swgiw QuImHeTTETTSHar peramasmen elaTEGS.
What are the merits of socialist economy ?

http://www.trbtnpsc.com/2014/12/pI’us-two-'12th-old-public'-exam-gov{.html
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67.

68.

69.

70.

71.

72.

73.

74.

75.
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Eﬂiﬁﬂ__g' 3 . . . ) )
J T B )G Gamemi.. oMen .

Descri
escribe the flatey long run supply curve.

DugHuman swhleamoamu 5 Diere| o HLsHs GConbsemens Qe

Explain the producer’s equilibrium by using isoquants.

AR wpmib MR Gar@aaien GenLGuILImes 2 e sar 6r(H5Is.

Explain the relationship between AR and MR curves.

SBar_sre srrefs Qeae) aueaGar® LdH GHUY TS

Give a note on long run average cost curve.

@gbgurﬂa»mu.nrrmr’r Gum_iguié elamdswe semar. und 6SaTéEGS.

S

Describe the wastes of monopolistic competition.

Sera Caml_LImL_ig 6or STITDFSMS ULLD euenTba) elen&§5.

Draw a flow chart to depict the essence of Keynes theory.

mI&sTOS Sirorafl&Eio auamorand sedy 9o sryenilEemens sams.
What are thé determinants of consumption other than income ?

aufl e9HLILG Qararenseiu adlaufl.

Explain the canons of taxation.

e N&mamw LD soflene LHHILD FuHleewpp
e SiMEHamesen Aleuf&aayL.

the balanced and unbalanced budget.

< ® HEH
<@ ® HID
Define. Budget. Explain

,[Q(@gqa& / Turn over
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Note : (i)

76.

77.

78.

79.

80.

81.
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L& - =/ PART - D

stemeuGuignid ewerm) eflamtdsense el walldsaun.  3x20=60

@eubleurm aleLub epenm UGS eTeNed DaWwHEHL
Geuamr@ib.

(i)

Answer any three of the following questions.
(if)  Answer for each question should be about three pages.

Qummerrsrrgemsts uHH Gewerd rMIeTden HOEHEMSES T TUIS.
Examine Lionel Robbins definition of economics.

H&ETGaurt o Lfleu LLD aemTHhE, SIS PESLSSIOID LoHMILD
SHoerle|HeneT 66T Es.

Explain consumer’s surplus with the help of a diagram and bring out its importance
and its criticism.

NomasCsmar Qpdlipssullamen el @b (pepamer 6leurors
GT(LpBELD.

Explain the methods of measurement of price elasticity of demand in detail.

Gndu srasdd, Hapaiu Guriiguié efene, L@TLSS 6 DeTay
eréueumml Hlirammufssiiu@ennear ?

How is the price and output determined in the short run under perfect
competition ?

sLeThd alqs Gamrum_yenan edleul.

Describe Loanable funds theory of interest.

e <@UuSC® peud e GuUTEGSMeT MTULD arHs

oQeuN&&HayLD. ‘ol - _ ‘

Discuss the process of monetary transmission mechanism with the aid of a
1

diagram. ;

-00o0--
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